EARAROBREBRT —5 XN—ZXBISH—F

20224688288 (H) 3E#iE6H

EdzmEes 2BoS52 YSR3EE (RS

(5548 €8

EEE=CIEE

16000 R

[A&=%] 1 7% :15,100,000 § ~ 2375 :6,000,000 3 . 375:3,800,000H . 43&:2,300,000H  53&:1,510,000 F

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
oS 3 | RABE 1:35.9 3-3 32.81101.2| 1 194 | REBAN (ER)
11811 W—Y237—Ib * 52.0 =) ¢g) | ) WRR—ZAL—yv7
RIN=YITS4A4 B:LyRXF1—H /=Y ITr—1L
» s 5 | PIFEX 1:36.0 4-5 32.90100.0 | 5 | 460 |=EFRM GRR)
20117 kYVE2—=b 55.0 /2 #2) BRAHYILT
RiF4—=FAVNT~ B:TSvITIVITUA /=Y Tr—I
S S t 3 | HZHBE 1:36.0 9-10 32.71100.2| 3 496 | FEER (5SR)
31810/ B—FAT RS * 540 F9%) © | @ o—Fh—2957
R:O0—RpxrO7 8:7555 TATAT7—1A
M) — 4 3 | ERER 1:36.0 4-5 32.8100.1| 2 440 | ZWLER ER)
4|5|5|ATFILTU 54.0 N\F) (+20) | 1IEB7088
R:RLVT#Y B:HATIE—FR =
— “ 3 | SHER 1:36.2 9-7 329|977 | 4 454 | PREFTE (FR)
507/ O—ILFPvS 52.0 A 1/8) we) | BI=E
RiF4—=TFAVNT~ B:F4XOA4VUF 0 TEHUS
=3 s 5 | SH= 1:36.2 7-7 33.0] 97.6 | 6 516 | BEEE—ER (EH)
61719 |F7F7ISIH 55.0 oS (o) | BEET
RIUTPIWAVINT N B:INUPIISIA X s
< R ENBAFE : - ABE (BH
5 APER = ] o6 ) 1(53/64)3 6-3 33.6| 9.3 | 7 z:g;; ggﬁq( )
R:F4—=FTUSVF 84217 B
= IS s 5 | BEARET 1:36.6 2-2 33.8|90.3 | 8 | 482 |#IHAME (H)
8 715F¥SVETR .0 (' 3/4) ) | @) WERE
RiFAIAIv— B RATLVT— Bl &
_~ s 4 | AEFEN 1:36.8 1-1 3410 86.6 | 10 | 414 |ELXAR= (ER)
9 2 vAL— 55.0° (1 1/4) @) |EISE
RAWTT—IN B:UAVFFY iEzicrec
N ~ 6 | BllIEA 1:37.6 11-11 33.9]81.1 | 1 49) |ERESE GEH)
100N 4 | ®TIL—TIT LV " 57.0 ) © TR
R:F4—=FAVINT s B:IvF2 F—U— - Iv/\Y - T7—LBRR
) t 3 | B3 1:37.6 7-7 343|786 | 9 454 | LWEBEK (t275)
M : BlIEECPEE S g 54.0 S0 o |BI=E
R:FA—TANA B:RARNYTUT o ERRT7—L
[ BN
En'y 45.8-33.2
NOvg4 L | 13.1-11.7-12.3-13.0-12.6-11.1-10.4-11.7
@ 11— —BBIEIL
13—7F—
20—F—
Ja=zr= 2,7,11(1,5)6(3,9) (8,10)-4
40—7F— 2,7(6,11) (1,5) (8,3,9)10,4
0 ILRE
BB 1" 230M JA R -1 5004 & 1-8 1,080 3EE 1-10-11 1,940/
B B 1 110 10-11 2603 o 18 1-11 1,490 3Es 11-1-10 7,780
1 2304 1-10 8504 oS- 11-1 2,120
10 150/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




